HOLE

3,4 DIA.
WITHOUT BOARDLOCK C7)

RECOMMENDED P.C. BOARD HOLE-LAYOQUT

- 33, 3 > +0, 1

[t 349, 2 -
et 33,3 -
et 25,0 -
1 0°TYP 5
17,5 R ,\
TYP < D N I
t L AT T ING L
DSI,,AO. //\f\\ ?W?A\O/r%\é)ﬁ)@ _8’47 13,
i ) &
v i.___ | — /1 ;___fj Y
3,5 MAX, HI“ Mm
» .
3,2
3 2.6 R L
TYP.
2, 74—m
| Y
6,3i8'2 5,8
741 |'| |'| —n A
ju |/
1
g0 - - ol
@@\@$@$@$@~ﬂ@%
L leeves 66| )

DO NOT SCALE

DIMENSTIONS IN mm

METRIC

THIRD ANGLE @ g
PROJECTION

ﬂ‘ 5 | 3,17 DIA. INSERT 2
=I5 | INSERT WITH INNER THREAD 4-40 UNC 2 >
g)( 5 | INSERT WITH INNER THREAD M3 2 2
N=| 4 | FEMALE SCREWLOCK WITH 4-40 UNC 2
n
w5l 4 [ FEMALE SCREWLOCK WITH M3 2 >
Q| 7 | BOARDLOCK 212|222
<
e I DESCRIPTION OF ACCESSORY
ES 15 POS. ————— > 7-338169-Y
a A N A T T
0: A SN X XXX XX XXX | X
O S| S X X > XK XX X | X
S| XK > > X XX | XX
S ] X X XX XX X | X
O SRR R R R
> > | X > X
— PREFIXFORli RN
ACCESSORIESJ O|l—|nim| <t ||| |o;
E% BASIC PARTNR.
T SUFFIX FOR PLATING
|
(n >
Z\ |GOLD OVER NICKEL AS PER
:EjPERFORMANCE LEVEL 2 (DIN 41652) -Y = =2
S L|SOLDERPART  :2,5pm TIN OVER NICKEL.
0 -
n

ZSXGROOVE INDICATES VERSION WITH 4-40 UNC INNER THREAD;

WITHOUT GROOVE INDICATES VERSION WITH M3 INNER THREAD.

/A CAVITY IDENTIFICATION AT FRONT SIDE ONLY.
/3 PARTNUMBER AND DATE CODE.

4 SHELL HAS 2x4 GROUNDING SPRINGS; PITCH IS 3,B mm

[TEM NRS. /MATERTAL

(3) CONTACTS

(:)FEMALE SCREWLOCK

(j)BOARDLOCK
(8) POSTALIGNMENT PLATE :

BRIGHT TINPLATED STEEL

GLASSFILLED POLYESTER,

COLOR BLACK
PH.BRONZE
(PLATING SEE TABLE ABOVED

TINPLATED STEEL

CINNER THREAD 4-40 UNC OR M3)

TINPLATED STEEL CINNER THREAD 4-40
UNC Ok M3 OR 3,1 DIA THRU-HOLED

TINPLATED STEEL

TINPLATED PHOSPHORBRONZE

GLASSFILLED NYLON,
COLOR : BLACK

- |CUSTOMER DRAWING

FOR REFERENCE ONLY
WILL NOT BE UPDATED

COPYRIGHT 13-

BY AMP-HOLLAND B.V.

ALL INTERNATIONAL RIGHTS RESERVED.AMP PRODUCTS MAY BE
COVERED BY U.S5. AND FOREIGN AND/OR PATENTS PENDING.

THIS DRAWING IS UNPUBLISHED

FHCO-=0013=04 | Jvan| PoJ |24 mar 04| Tr =2 PoBEt

4.(1}-—1,37 ﬁ—o),?DIA, G o e e o
- (€3 O o = ) \X AMP—-HOLLAND B.V.
L} _ _ _ f7l\ _ i FIlEH=-1T477/7-99 T.k.|w.c.| 19-02-00 & M ﬁ | "s—-Hertogenbosch,
_ _ _ b _o—60 —o0—0 - o14— +0, 1 AN The Nether lLands.
- } I I 3,1 DIA FI FH-047T2>2-00 RvH | R.F. |27 MaR 00 [TamE T ———
’ o, 74w 7 0B - D[ EH-0033-99 |0.K|u.S|ems|  RigHT ANGLE PLUG HEADER; MARK 11+
. . LTR. REVISION RECORD DR. | cHk.| DpaTE
MATING FACE OF CONNECTOR DR.: D. KESSLER |CHK.: W.SOOMERS |APP.: - DWG. No. REV.LTR. | SHEET
DATE: 18 JAN 99 [DATE: - DATE: - C— 3381868 G T oF ] A2
e 11 | 10 g 8 5 4 3 2 1




